BEDFORD AND RUTHERFORD COUNTIES (Contract No. CNW245 Call 001)

75I024-S8-007

THE RESURFACING ON I-24 FROM EAST OF EPPS MILL ROAD (L.M. 26.55) IN RUTHERFORD COUNTY THROUGH BEDFORD COUNTY TO THE COFFEE COUNTY LINE (L.M. 0.45)

PROJECT LENGTH - 7.190 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2023

TOTAL CONTRACT

Rogers Group, Inc.

\$8,360,568.00

Vulcan Construction Materials, LLC

\$8,950,203.00

UNIT	PRICE
------	-------

EXTENSION

ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Rogers Group, Inc. Vulcan Construction Materials, LLC	29.000 L.M.	\$850.0000 \$3,000.0000	\$24,650.00 \$87,000.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Rogers Group, Inc. Vulcan Construction Materials, LLC	3,806.000 TON	\$30.0000 \$50.0000	\$114,180.00 \$190,300.00
307-03.11	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING (
	Rogers Group, Inc. Vulcan Construction Materials, LLC	22,366.000 TON	\$128.0000 \$136.0000	\$2,862,848.00 \$3,041,776.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc. Vulcan Construction Materials, LLC	117.000 TON	\$825.0000 \$1,200.0000	\$96,525.00 \$140,400.00
403-02.02	HOT APPLIED TACK COAT			
	Rogers Group, Inc. Vulcan Construction Materials, LLC	176.000 TON	\$1,250.0000 \$3,000.0000	\$220,000.00 \$528,000.00
411-03.10	ACS MIX(PG76-22) GRADING D			
	Rogers Group, Inc. Vulcan Construction Materials, LLC	377.000 TON	\$295.0000 \$250.0000	\$111,215.00 \$94,250.00
411-03.23	ACS MIX (PG76-22) OGFC			
	Rogers Group, Inc. Vulcan Construction Materials, LLC	14,753.000 TON	\$180.0000 \$175.0000	\$2,655,540.00 \$2,581,775.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Rogers Group, Inc. Vulcan Construction Materials, LLC	29.000 L.M.	\$675.0000 \$350.0000	\$19,575.00 \$10,150.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Rogers Group, Inc. Vulcan Construction Materials, LLC	21,350.000 TON	\$35.0000 \$50.0000	\$747,250.00 \$1,067,500.00
712-01	TRAFFIC CONTROL			
	Rogers Group, Inc. Vulcan Construction Materials, LLC	1.000 LS	\$375,000.0000 \$250,000.0000	\$375,000.00 \$250,000.00

				CONTRACT CNW245
			UNIT PRICE	EXTENSION
740.04.04	ELEVIDLE DRUMO (QUANNELIZINO)			
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	260.000 EACH		
	Rogers Group, Inc.	200.000 EACH	\$35.0000	\$9,100.00
	Vulcan Construction Materials, LLC		\$60.0000	\$15,600.00
712-06	SIGNS (CONSTRUCTION)	4 CC0 000 C F		
	Rogers Group, Inc.	1,668.000 S.F.	\$8.0000	\$13,344.00
	Vulcan Construction Materials, LLC		\$14.0000	\$23,352.00
712-06.16	SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING)			
	Rogers Group, Inc.	4.000 EACH	\$750.0000	\$3,000.00
	Vulcan Construction Materials, LLC		\$1,000.0000	\$4,000.00
712-08.03	ARROW BOARD (TYPE C)			
	Rogers Group, Inc.	2.000 EACH	\$1,250.0000	\$2,500.00
	Vulcan Construction Materials, LLC		\$1,800.0000	\$3,600.00
712-08.08	SPEED FEEDBACK SIGN ASSEMBLY			
	Degara Craus Inc	2.000 EACH	¢c 200 0000	¢12,400,00
	Rogers Group, Inc. Vulcan Construction Materials, LLC		\$6,200.0000 \$5,000.0000	\$12,400.00 \$10,000.00
712-08.09	DIGITAL SPEED LIMIT SIGN ASSEMBLY			
	Degara Craus Inc	6.000 EACH	¢c 500 0000	¢20,000,00
	Rogers Group, Inc. Vulcan Construction Materials, LLC		\$6,500.0000 \$5,500.0000	\$39,000.00 \$33,000.00
712-08.12	QUEUE PROTECTION TRUCK			
	Rogers Group, Inc.	120.000 DAY	\$1,500.0000	\$180,000.00
	Vulcan Construction Materials, LLC		\$1,500.0000	\$180,000.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Degara Craus Inc	4.000 EACH	¢7,000,0000	\$20,000,00
	Rogers Group, Inc. Vulcan Construction Materials, LLC		\$7,000.0000 \$8,000.0000	\$28,000.00 \$32,000.00
	·			• •
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 C			
	Danaga Craus, Inc.	950.000 EACH	# 40.0000	Фор осо со
	Rogers Group, Inc. Vulcan Construction Materials, LLC		\$40.0000 \$35.0000	\$38,000.00 \$33,250.00
			-	+,
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			

950.000 EACH

Rogers Group, Inc.

Vulcan Construction Materials, LLC

\$10,450.00

\$14,250.00

\$11.0000

\$15.0000

ITRACT	

			CC	NTRACT CNW245
			UNIT PRICE	EXTENSION
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		550.000 L.F.		
	Rogers Group, Inc.		\$16.5000	\$9,075.00
	Vulcan Construction Materials, LLC		\$25.0000	\$13,750.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)			
		0.174 L.M.		
	Rogers Group, Inc.		\$9,000.0000	\$1,566.00
	Vulcan Construction Materials, LLC		\$25,000.0000	\$4,350.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		66.000 L.M.		
	Rogers Group, Inc.		\$1,750.0000	\$115,500.00
	Vulcan Construction Materials, LLC		\$1,700.0000	\$112,200.00
716-08.20	REMOVAL OF PAVEMENT MARKING (LINE)			
		0.400 L.M.		
	Rogers Group, Inc.		\$12,500.0000	\$5,000.00
	Vulcan Construction Materials, LLC		\$7,500.0000	\$3,000.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		33.400 L.M.		
	Rogers Group, Inc.		\$7,500.0000	\$250,500.00
	Vulcan Construction Materials, LLC		\$7,500.0000	\$250,500.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED	LINE)		
		300.000 L.F.		
	Rogers Group, Inc.		\$4.5000	\$1,350.00
	Vulcan Construction Materials, LLC		\$4.0000	\$1,200.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$415,000.0000	\$415,000.00
	Vulcan Construction Materials, LLC		\$225,000.0000	\$225,000.00

Rogers Group, Inc.	\$8,360,568.00
Vulcan Construction Materials, LLC	\$8,950,203.00

Rogers Group, Inc.	\$8,360,568.00
Vulcan Construction Materials, LLC	\$8,950,203.00

DAVIDSON COUNTY (Contract No. CNW241 Call 004)

19S155-S8-004

THE RESURFACING ON S.R. 155 (BRILEY PARKWAY) FROM THE MCGAVOCK PIKE RAMP (L.M. 12.15) TO THE BRIDGE OVER I-65 (L.M. 15.17) INCLUDING S.R. 6 (BRILEY PARKWAY) FROM ELLINGTON PKWY (L.M. 15.49) TO GALLATIN PIKE (L.M. 16.49).

PROJECT LENGTH - 4.020 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 30, 2022

-	$\Gamma \cap \Gamma$	ΓΛΙ	CON	ITD	$\Lambda \cap I$
	ı	ᄔ	. CON	N I K	AUI

Volunteer Paving, LLC\$4,680,088.63Rogers Group, Inc.\$4,794,751.10Vulcan Construction Materials, LLC\$5,071,256.25

	_	_	_	_
IT PRICE			EXTE	NSION

		UNIT PRICE	EXTENSION
ROADW	AY CATEGORY		
208-01.05	BROOMING & DEGRASSING SHOULDERS		
	16	.000 L.M.	
	Volunteer Paving, LLC	\$1,260.9400	\$20,175.04
	Rogers Group, Inc.	\$3,500.0000	\$56,000.00
	Vulcan Construction Materials, LLC	\$2,500.0000	\$40,000.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	305	.000 TON	
	Volunteer Paving, LLC	\$84.0300	\$25,629.15
	Rogers Group, Inc.	\$115.0000	\$35,075.00
	Vulcan Construction Materials, LLC	\$75.0000	\$22,875.00
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING B-M2		
	500	.000 TON	
	Volunteer Paving, LLC	\$150.3600	\$75,180.00
	Rogers Group, Inc.	\$175.0000	\$87,500.00
	Vulcan Construction Materials, LLC	\$175.0000	\$87,500.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	118	.000 TON	
	Volunteer Paving, LLC	\$875.0000	\$103,250.00
	Rogers Group, Inc.	\$1,000.0000	\$118,000.00
	Vulcan Construction Materials, LLC	\$1,000.0000	\$118,000.00
411-03.10	ACS MIX(PG76-22) GRADING D		
	17,712	.000 TON	
	Volunteer Paving, LLC	\$150.3200	\$2,662,467.84
	Rogers Group, Inc.	\$142.5000	\$2,523,960.00
	Vulcan Construction Materials, LLC	\$155.0000	\$2,745,360.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)		
	16	.000 L.M.	
	Volunteer Paving, LLC	\$550.0000	\$8,800.00
	Rogers Group, Inc.	\$900.0000	\$14,400.00
	Vulcan Construction Materials, LLC	\$750.0000	\$12,000.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT		
		.000 TON	
	Volunteer Paving, LLC	\$57.9000	\$1,015,797.60
	Rogers Group, Inc.	\$40.0000	\$701,760.00
	Vulcan Construction Materials, LLC	\$43.0000	\$754,392.00

712-01 TRAFFIC CONTROL

				1.000	LS	
 - .						

Volunteer Paving, LLC	\$63,000.0000	\$63,000.00
Rogers Group, Inc.	\$200,000.0000	\$200,000.00
Vulcan Construction Materials, LLC	\$185,000.0000	\$185,000.00

				UNIT PRICE	EXTENSION
Volunteer Paving, LLC S28,500,000 S5,700,000 S5,700,000,000 S5,7	712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
Rogers Group, Inc. S50,000 \$10,000.00		,	200.000 EACH		
Rogers Group, Inc. \$35,0000 \$1,000.0		Volunteer Paving, LLC		\$28.5000	\$5,700.00
				\$35.0000	\$7,000.00
Volunteer Paving, LLC S6,5000 S9,925,50 Rogers Group, Inc. \$10,0000 \$15,270,000 \$2,400,000 \$2,		Vulcan Construction Materials, LLC		\$50.0000	\$10,000.00
Volunteer Paving, LLC \$6,5000 \$9,925.50 Rogers Group, Inc. \$11,0000 \$115,270.00 \$115,275.00 \$115,2	712-06	SIGNS (CONSTRUCTION)			
Rogers Group, inc. \$10,0000 \$15,270.00 \$18,324.00 \$12,0000 \$18,324.00 \$18,324.00 \$12,0000 \$18,324.00 \$18,324.00 \$12,0000 \$18,324.00 \$12,000 \$18,324.00 \$12,000 \$12,000 \$12,000.00 \$12,000.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,860.00 \$2,400.00 \$2,860.			1,527.000 S.F.		
Vulcan Construction Materials, LLC \$12,000 \$18,324,00 712-06.16 SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING)		Volunteer Paving, LLC		\$6.5000	\$9,925.50
12-96.16 SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING) 4.000 EACH		Rogers Group, Inc.		\$10.0000	\$15,270.00
Volunteer Paving, LLC \$600.000 \$2,400.00 \$2,400.00 \$2,80		Vulcan Construction Materials, LLC		\$12.0000	\$18,324.00
Volunteer Paving, LLC \$600.000 \$2,400.00 Rogers Group, Inc. \$715.0000 \$2,800.0	712-06.16	SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING)			
Rogers Group, Inc. \$715,0000 \$2,860.00 \$3,200.			4.000 EACH		
Vulcan Construction Materials, LLC \$800.000 \$3,200.00 712-08.03 ARROW BOARD (TYPE C)		-		•	
T12-08.03 ARROW BOARD (TYPE C)		· · · · · · · · · · · · · · · · · · ·			
Volunteer Paving, LLC \$1,100.0000 \$6,600.00 Rogers Group, Inc. \$1,500.0000 \$9,000.00 \$9,		Vulcan Construction Materials, LLC		\$800.0000	\$3,200.00
Volunteer Paving, LLC \$1,100.0000 \$6,600.00 Rogers Group, Inc. \$1,500.0000 \$9,000.00 \$9,	712-08.03	ARROW BOARD (TYPE C)			
Rogers Group, İnc. \$1,500.0000 \$9,000.00 712-08.08 SPEED FEEDBACK SIGN ASSEMBLY 2.000 EACH \$4,750.0000 \$9,500.00 Volunteer Paving, LLC \$4,750.0000 \$9,500.00 \$14,0			6.000 EACH		
Vulcan Construction Materials, LLC \$1,500.0000 \$9,000.00 712-08.08 SPEED FEEDBACK SIGN ASSEMBLY 2.000 EACH Volunteer Paving, LLC \$4,750.0000 \$9,500.00 Rogers Group, Inc. \$7,000.0000 \$14,000.00 Vulcan Construction Materials, LLC \$2,000.0000 \$4,000.00 8.000 EACH Volunteer Paving, LLC \$4,750.0000 \$38,000.00 Rogers Group, Inc. \$6,700.0000 \$53,600.00 Vulcan Construction Materials, LLC \$5,300.0000 \$42,400.00 712-08.12 QUEUE PROTECTION TRUCK 120.000 DAY Volunteer Paving, LLC \$500.0000 \$60,000.00 Rogers Group, Inc. \$1,400.0000 \$168,000.00 Vulcan Construction Materials, LLC \$1,200.0000 \$144,000.00 713-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$5,500.0000 \$22,000.00 85,500.0000 \$22,000.00		Volunteer Paving, LLC		\$1,100.0000	\$6,600.00
712-08.08 SPEED FEEDBACK SIGN ASSEMBLY 2.000 EACH Volunteer Paving, LLC Rogers Group, Inc. Vulcan Construction Materials, LLC 712-08.09 DIGITAL SPEED LIMIT SIGN ASSEMBLY 8.000 EACH Volunteer Paving, LLC Rogers Group, Inc. Volunteer Paving, LLC Rogers Group, Inc. Vulcan Construction Materials, LLC 10.000 EACH Volunteer Paving, LLC Rogers Group, Inc. Vulcan Construction Materials, LLC 10.000 DAY 712-08.12 QUEUE PROTECTION TRUCK 10.000 DAY Volunteer Paving, LLC Rogers Group, Inc. Vulcan Construction Materials, LLC 10.000 DAY Volunteer Paving, LLC Rogers Group, Inc. Vulcan Construction Materials, LLC 10.000 DAY Volunteer Paving, LLC Rogers Group, Inc. Vulcan Construction Materials, LLC 10.000 DAY 113-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH Volunteer Paving, LLC Rogers Group, Inc. S5,500.0000 \$22,000.00 ROGERS Group, Inc. \$5,500.0000 \$22,000.00 ROGERS Group, Inc. \$5,500.0000 \$22,000.00 ROGERS Group, Inc. \$5,500.0000 \$22,000.00 ROGERS Group, Inc. \$7,500.0000 \$30,000.00		· · · · · · · · · · · · · · · · · · ·			
Volunteer Paving, LLC		Vulcan Construction Materials, LLC		\$1,500.0000	\$9,000.00
Volunteer Paving, LLC \$4,750.0000 \$9,500.00 Rogers Group, Inc. \$7,000.0000 \$14,000.0	712-08.08	SPEED FEEDBACK SIGN ASSEMBLY			
Rogers Group, Inc. \$7,000.0000 \$14,000.00 \$14,000.00 \$2,000.0000 \$4,000.00 \$4,000.00 \$2,000.0000 \$4,000.00 \$2,000.0000 \$4,000.00 \$2,000.0000 \$4,000.00 \$2,000.0000 \$4,000.00 \$2,000.0000 \$4,000.00 \$2,000.0000 \$38,000.00 \$38,000.00 \$38,000.00 \$6,700.0000 \$53,600.00 \$53,600.00 \$53,600.00 \$6,700.0000 \$53,600.00 \$6,700.0000 \$6,000.00			2.000 EACH		
Vulcan Construction Materials, LLC		Volunteer Paving, LLC		\$4,750.0000	\$9,500.00
712-08.09 DIGITAL SPEED LIMIT SIGN ASSEMBLY 8.000 EACH Volunteer Paving, LLC Rogers Group, Inc. Vulcan Construction Materials, LLC 712-08.12 QUEUE PROTECTION TRUCK Volunteer Paving, LLC Rogers Group, Inc. Volunteer Paving, LLC Rogers Group, Inc. Volunteer Paving, LLC Rogers Group, Inc. Vulcan Construction Materials, LLC *\$500.000 \$60,000.00 Rogers Group, Inc. Vulcan Construction Materials, LLC *\$1,400.000 \$168,000.00 Vulcan Construction Materials, LLC *\$1,200.0000 \$144,000.00 *\$144,000.00 *\$13-16.01 CHANGEABLE MESSAGE SIGN UNIT **4.000 EACH Volunteer Paving, LLC Rogers Group, Inc. \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00 Rogers Group, Inc.		-			
Nolunteer Paving, LLC		Vulcan Construction Materials, LLC		\$2,000.0000	\$4,000.00
Volunteer Paving, LLC \$4,750.0000 \$38,000.00 Rogers Group, Inc. \$6,700.0000 \$53,600.00 Vulcan Construction Materials, LLC \$5,300.0000 \$42,400.00 712-08.12 QUEUE PROTECTION TRUCK 120.000 DAY Volunteer Paving, LLC \$500.0000 \$60,000.00 Rogers Group, Inc. \$1,400.0000 \$168,000.00 Vulcan Construction Materials, LLC \$1,200.0000 \$144,000.00 713-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00	712-08.09	DIGITAL SPEED LIMIT SIGN ASSEMBLY			
Rogers Group, Inc. \$6,700.0000 \$53,600.00 Vulcan Construction Materials, LLC \$5,300.0000 \$42,400.00 712-08.12 QUEUE PROTECTION TRUCK 120.000 DAY Volunteer Paving, LLC \$500.0000 \$60,000.00 Rogers Group, Inc. \$1,400.0000 \$168,000.00 Vulcan Construction Materials, LLC \$1,200.0000 \$144,000.00 713-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00			8.000 EACH		
Vulcan Construction Materials, LLC \$5,300.0000 \$42,400.00 712-08.12 QUEUE PROTECTION TRUCK 120.000 DAY Volunteer Paving, LLC \$500.0000 \$60,000.00 Rogers Group, Inc. \$1,400.0000 \$168,000.00 Vulcan Construction Materials, LLC \$1,200.0000 \$144,000.00 713-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH \$5,500.0000 \$22,000.00 Volunteer Paving, LLC \$5,500.0000 \$22,000.00 \$30,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00		Volunteer Paving, LLC		\$4,750.0000	\$38,000.00
712-08.12 QUEUE PROTECTION TRUCK 120.000 DAY Volunteer Paving, LLC \$500.0000 \$60,000.00 Rogers Group, Inc. \$1,400.0000 \$168,000.00 \$168,000.00 \$1,400.00		· · · · · · · · · · · · · · · · · · ·			
120.000 DAY Volunteer Paving, LLC \$500.0000 \$60,000.00 Rogers Group, Inc. \$1,400.0000 \$168,000.00 Vulcan Construction Materials, LLC \$1,200.0000 \$144,000.00 \$144,000.00 \$13-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00		Vulcan Construction Materials, LLC		\$5,300.0000	\$42,400.00
Volunteer Paving, LLC \$500.0000 \$60,000.00 Rogers Group, Inc. \$1,400.0000 \$168,000.00 Vulcan Construction Materials, LLC \$1,200.0000 \$144,000.00 713-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00	712-08.12	QUEUE PROTECTION TRUCK			
Rogers Group, Inc. \$1,400.0000 \$168,000.00 Vulcan Construction Materials, LLC \$1,200.0000 \$144,000.00 713-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00			120.000 DAY		
Vulcan Construction Materials, LLC \$1,200.0000 \$144,000.00 713-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00		Volunteer Paving, LLC		\$500.0000	\$60,000.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT 4.000 EACH Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00					
4.000 EACH Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00		Vulcan Construction Materials, LLC		\$1,200.0000	\$144,000.00
Volunteer Paving, LLC \$5,500.0000 \$22,000.00 Rogers Group, Inc. \$7,500.0000 \$30,000.00	713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
Rogers Group, Inc. \$7,500.0000 \$30,000.00			4.000 EACH		
				\$5,500.0000	
Vulcan Construction Materials, LLC \$7,500.0000 \$30,000.00		· · · · · · · · · · · · · · · · · · ·			
		Vulcan Construction Materials, LLC		\$7,500.0000	\$30,000.00

	UNIT PRICE	EXTENSION
716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)		
1,685.000 EACH		
Volunteer Paving, LLC	\$40.0000	\$67,400.00
Rogers Group, Inc.	\$40.0000	\$67,400.00
Vulcan Construction Materials, LLC	\$33.0000	\$55,605.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
1,685.000 EACH		
Volunteer Paving, LLC	\$5.0000	\$8,425.00
Rogers Group, Inc.	\$11.0000	\$18,535.00
Vulcan Construction Materials, LLC	\$12.0000	\$20,220.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
3.000 EACH		
Volunteer Paving, LLC	\$175.0000	\$525.00
Rogers Group, Inc.	\$225.0000	\$675.00
Vulcan Construction Materials, LLC	\$250.0000	\$750.00
716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE)		
2,785.000 L.F.		
Volunteer Paving, LLC	\$22.0000	\$61,270.00
Rogers Group, Inc.	\$17.0000	\$47,345.00
Vulcan Construction Materials, LLC	\$20.0000	\$55,700.00
716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)		
5.000 EACH		
Volunteer Paving, LLC	\$250.0000	\$1,250.00
Rogers Group, Inc.	\$275.0000	\$1,375.00
Vulcan Construction Materials, LLC	\$500.0000	\$2,500.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)		
2.000 EACH		
Volunteer Paving, LLC	\$150.0000	\$300.00
Rogers Group, Inc.	\$225.0000	\$450.00
Vulcan Construction Materials, LLC	\$250.0000	\$500.00
716-04.07 PLASTIC PAVEMENT MARKING (EXIT ONLY ARROW)		
8.000 EACH		
Volunteer Paving, LLC	\$400.0000	\$3,200.00
Rogers Group, Inc.	\$425.0000	\$3,400.00
Vulcan Construction Materials, LLC	\$400.0000	\$3,200.00
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)		
7.000 EACH		
Volunteer Paving, LLC	\$500.0000	\$3,500.00
Rogers Group, Inc.	\$800.0000	\$5,600.00
Vulcan Construction Materials, LLC	\$400.0000	\$2,800.00

	CONTRACT CNW241
LINUT BRIGE	EVENICION

		C	ONTRACT CHW24
		UNIT PRICE	EXTENSION
716-04.18 PLASTIC PAVEMENT MARKING	i (BIKE/XING)		
	1.000 EACH		
Volunteer Paving, LLC		\$500.0000	\$500.00
Rogers Group, Inc.		\$550.0000	\$550.00
Vulcan Construction Materials,	LLC	\$600.0000	\$600.00
716-05.20 PAINTED PAVEMENT MARKING	6 (6" LINE)		
	22.000 L.M.		
Volunteer Paving, LLC		\$1,500.0000	\$33,000.00
Rogers Group, Inc.		\$1,800.0000	\$39,600.00
Vulcan Construction Materials,	LLC	\$1,700.0000	\$37,400.00
716-08.01 REMOVAL OF PAVEMENT MAR	KING (LINE)		
	23,421.000 L.F.		
Volunteer Paving, LLC		\$0.5000	\$11,710.50
Rogers Group, Inc.		\$0.8500	\$19,907.85
Vulcan Construction Materials,	LLC	\$1.2500	\$29,276.25
716-09.86 CONTRAST PAVEMENT MARKI	NG 6"		
	4.500 L.M.		
Volunteer Paving, LLC		\$16,500.0000	\$74,250.00
Rogers Group, Inc.		\$22,700.0000	\$102,150.00
Vulcan Construction Materials,	LLC	\$40,000.0000	\$180,000.00
716-09.88 CONTRAST PAVEMENT MARKI	NG 8"		
	0.400 L.M.		
Volunteer Paving, LLC		\$20,000.0000	\$8,000.00
Rogers Group, Inc.		\$45,000.0000	\$18,000.00
Vulcan Construction Materials,	LLC	\$44,000.0000	\$17,600.00
716-09.89 CONTRAST PAVEMENT MARKI	NG 12"		
	500.000 L.F.		
Volunteer Paving, LLC		\$15.0000	\$7,500.00
Rogers Group, Inc.		\$22.5000	\$11,250.00
Vulcan Construction Materials,	LLC	\$20.0000	\$10,000.00
716-12.02 ENHANCED FLATLINE THERMO	PVMT MRKNG (6IN LINE)		
	20.400 L.M.		
Volunteer Paving, LLC		\$7,000.0000	\$142,800.00
Rogers Group, Inc.		\$8,150.0000	\$166,260.00
Vulcan Construction Materials,	LLC	\$7,900.0000	\$161,160.00
716-12.05 ENHANCED FLATLINE THERMO	PVMT MRKNG (6IN DOTTED LINE)		
	4,511.000 L.F.		
Volunteer Paving, LLC		\$3.0000	\$13,533.00
Rogers Group, Inc.		\$3.2500	\$14,660.75
Vulcan Construction Materials,	LLC	\$4.0000	\$18,044.00

				CONTRACT CNW241
			UNIT PRICE	EXTENSION
716-12.06 I	ENHANCED FLAT LINE THERMO (8IN LINE)			
		4,150.000 L.F.		
\	Volunteer Paving, LLC		\$3.0000	\$12,450.00
F	Rogers Group, Inc.		\$2.7500	\$11,412.50
'	Vulcan Construction Materials, LLC		\$5.0000	\$20,750.00
746 42 00 1	ENHANCED ELAT LINE THERMO (42IN LINE)			
710-12.09	ENHANCED FLAT LINE THERMO (12IN LINE)			
		1,300.000 L.F.		
	Volunteer Paving, LLC		\$5.0000	\$6,500.00
	Rogers Group, Inc.		\$5.5000	\$7,150.00
`	Vulcan Construction Materials, LLC		\$10.0000	\$13,000.00
716-12.10 I	ENHANCED FLAT LINE THERMO (12IN DOTTED)			
		4,110.000 L.F.		
,	Volunteer Paving, LLC		\$5.0000	\$20,550.00
ſ	Rogers Group, Inc.		\$5.5000	\$22,605.00
`	Vulcan Construction Materials, LLC		\$10.0000	\$41,100.00
717-01 I	MOBILIZATION			
		1.000 LS		
		1.000 LO		

Volunteer Paving, LLC Rogers Group, Inc.

Vulcan Construction Materials, LLC

\$75,000.00

\$200,000.00 \$175,000.00

\$75,000.0000 \$200,000.0000

\$175,000.0000

Volunteer Paving, LLC	\$4,680,088.63
Rogers Group, Inc.	\$4,794,751.10
Vulcan Construction Materials, LLC	\$5,071,256.25

Volunteer Paving, LLC	\$4,680,088.63
Rogers Group, Inc.	\$4,794,751.10
Vulcan Construction Materials, LLC	\$5,071,256.25

MAURY COUNTY (Contract No. CNW244 Call 005)

60I065-S8-002

THE RESURFACING ON I-65 FROM THE MARSHALL COUNTY LINE (L.M. 0.00) TO S.R. 99 (L.M. 10.50).

PROJECT LENGTH - 10.500 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2023

TOTAL CONTRACT

 $\label{thm:contractors} \mbox{Wright Paving Contractors, Inc.}$

\$10,735,401.34

Volunteer Paving, LLC

\$13,652,402.60

CONTRACT	CNW244
----------	--------

			С	ONTRACT CNW244
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		42.000 L.M.		
	Wright Paving Contractors, Inc. Volunteer Paving, LLC		\$1,690.7400 \$1,478.0200	\$71,011.08 \$62,076.84
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		5,558.000 TON		
	Wright Paving Contractors, Inc. Volunteer Paving, LLC		\$33.7500 \$60.5100	\$187,582.50 \$336,314.58
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADIN	NG B-M2		
		1,000.000 TON		
	Wright Paving Contractors, Inc.	ŕ	\$120.7400	\$120,740.00
	Volunteer Paving, LLC		\$158.1400	\$158,140.00
307-03.11	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADIN			
		39,640.000 TON		
	Wright Paving Contractors, Inc. Volunteer Paving, LLC		\$94.9300 \$130.2900	\$3,763,025.20 \$5,164,695.60
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		208.000 TON		
	Wright Paving Contractors, Inc. Volunteer Paving, LLC		\$919.9100 \$1,076.9200	\$191,341.28 \$223,999.36
403-02.02	HOT APPLIED TACK COAT	25C 000 TON		
	Weight Daving Contractors Inc	256.000 TON	#4.000.0000	¢400,000,00
	Wright Paving Contractors, Inc. Volunteer Paving, LLC		\$1,600.0000 \$2,677.8800	\$409,600.00 \$685,537.28
411-03.10	ACS MIX(PG76-22) GRADING D			
	W: I/B : O / / I	850.000 TON	# 400.4500	0400 077 50
	Wright Paving Contractors, Inc. Volunteer Paving, LLC		\$163.1500 \$235.6400	\$138,677.50 \$200,294.00
411-03.23	ACS MIX (PG76-22) OGFC			
		22,014.000 TON		
	Wright Paving Contractors, Inc. Volunteer Paving, LLC		\$128.4100 \$186.4700	\$2,826,817.74 \$4,104,950.58
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		42.000 L.M.		
	Wright Paving Contractors, Inc. Volunteer Paving, LLC		\$515.2000 \$400.0000	\$21,638.40 \$16,800.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		37,838.000 TON		
	Wright Paving Contractors, Inc. Volunteer Paving, LLC		\$36.4100 \$43.4700	\$1,377,681.58 \$1,644,817.86
				PAGE

CONTRACT CN	W2	44
-------------	----	----

				CONTRACT CNW244
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Wright Paving Contractors, Inc.		\$241,638.0000	\$241,638.00
	Volunteer Paving, LLC		\$190,750.0000	\$190,750.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		200.000 EACH		
	Wright Paving Contractors, Inc.		\$32.9600	\$6,592.00
	Volunteer Paving, LLC		\$28.5000	\$5,700.00
712-06	SIGNS (CONSTRUCTION)			
		1,881.000 S.F.		
	Wright Paving Contractors, Inc.	,	\$8.7600	\$16,477.56
	Volunteer Paving, LLC		\$6.5000	\$12,226.50
712-06.16	SIGNS (CONSTRUCTION)(REDUCED SPEED W	ARNING)		
		4.000 EACH		
	Wright Paving Contractors, Inc.		\$643.7500	\$2,575.00
	Volunteer Paving, LLC		\$600.0000	\$2,400.00
712-08 03	ARROW BOARD (TYPE C)			
7 12 00.00	Auton Board (TT 2 0)	2.000 EACH		
	Wright Paving Contractors, Inc.	2,000 2,1011	\$1,133.0000	\$2,266.00
	Volunteer Paving, LLC		\$1,100.0000	\$2,200.00
740.00.00	ODEED EEEDDAOK OLON ACCEMBLY			
712-08.08	SPEED FEEDBACK SIGN ASSEMBLY	2.000 EACH		
	Wright Paving Contractors, Inc.	2.000 EACH	\$6,128.5000	\$12,257.00
	Volunteer Paving, LLC		\$4,750.0000	\$9,500.00
712 09 00	DIGITAL SPEED LIMIT SIGN ASSEMBLY			
712-00.09	DIGITAL SPEED LIWIT SIGN ASSEMBLY	16.000 EACH		
	Wright Paving Contractors, Inc.	10.000 =7.011	\$5,716.5000	\$91,464.00
	Volunteer Paving, LLC		\$4,750.0000	\$76,000.00
712_09 12	QUEUE PROTECTION TRUCK			
7 12-00.12	QUEUE PROTECTION TRUCK	120.000 DAY		
	Wright Paving Contractors, Inc.	120.000 DA1	\$1,442.0000	\$173,040.00
	Volunteer Paving, LLC		\$500.0000	\$60,000.00
713-16 01	CHANGEABLE MESSAGE SIGN UNIT			
713-10.01	CHANGEABLE MESSAGE SIGN UNIT	4.000 EACH		
	Wright Paving Contractors, Inc.	-1000 EA011	\$6,128.5000	\$24,514.00
	Volunteer Paving, LLC		\$5,500.0000	\$22,000.00
716-04-22	SNOWPLOWABLE RAISED PAVEMENT MARKE	ERS (RI-DIR)(2 COL OR)		
110-01.23	CHOW LOWADLE RAIGLD PAVEMENT MARKE	1,500.000 EACH		
	Wright Paving Contractors, Inc.	1,500.000 EAGI1	\$36.0500	\$54,075.00
	Volunteer Paving, LLC		\$40.0000	\$60,000.00
	-			

		CONTRACT CNW244
	UNIT PRICE	EXTENSION
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
	1,500.000 EACH	
Wright Paving Contractors, Inc.	\$10.3000	\$15,450.00
Volunteer Paving, LLC	\$5.0000	\$7,500.00
716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE)		
	450.000 L.F.	
Wright Paving Contractors, Inc.	\$15.4500	\$6,952.50
Volunteer Paving, LLC	\$22.0000	\$9,900.00
716-04.06 PLASTIC PAVEMENT MARKING (WRONG WAY ARROW)		

716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		1,500.000 EACH		
	Wright Paving Contractors, Inc.		\$10.3000	\$15,450.00
	Volunteer Paving, LLC		\$5.0000	\$7,500.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		450.000 L.F.		
	Wright Paving Contractors, Inc.		\$15.4500	\$6,952.50
	Volunteer Paving, LLC		\$22.0000	\$9,900.00
716-04.06	PLASTIC PAVEMENT MARKING (WRONG WAY ARROW)			
		2.000 EACH		
	Wright Paving Contractors, Inc.		\$309.0000	\$618.00
	Volunteer Paving, LLC		\$400.0000	\$800.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
		4.000 EACH		
	Wright Paving Contractors, Inc.		\$721.0000	\$2,884.00
	Volunteer Paving, LLC		\$500.0000	\$2,000.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		96.000 L.M.		
	Wright Paving Contractors, Inc.		\$1,648.0000	\$158,208.00
	Volunteer Paving, LLC		\$1,500.0000	\$144,000.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		48.000 L.M.		
	Wright Paving Contractors, Inc.		\$7,416.0000	\$355,968.00
	Volunteer Paving, LLC		\$7,000.0000	\$336,000.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER	R LINE)		
		1,400.000 L.F.		
	Wright Paving Contractors, Inc.		\$4.1200	\$5,768.00
	Volunteer Paving, LLC		\$3.0000	\$4,200.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED	LINE)		
		3,200.000 L.F.		
	Wright Paving Contractors, Inc.		\$3.0900	\$9,888.00
	Volunteer Paving, LLC		\$3.0000	\$9,600.00
717-01	MOBILIZATION			
		1.000 LS		
	Wright Paving Contractors, Inc.		\$446,651.0000	\$446,651.00
	Volunteer Paving, LLC		\$100,000.0000	\$100,000.00

Wright Paving Contractors, Inc.	\$10,735,401.34
Volunteer Paving, LLC	\$13,652,402.60

Wright Paving Contractors, Inc.	\$10,735,401.34
Volunteer Paving, LLC	\$13,652,402.60

RUTHERFORD COUNTY (Contract No. CNW243 Call 007)

75I024-S8-008

THE RESURFACING ON I-24 FROM NEAR MEDICAL CENTER PARKWAY (L.M. 13.60) TO THE STONES RIVER (L.M. 15.52).

PROJECT LENGTH - 1.920 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 30, 2022

TOTAL CONTRACT

Vulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries \$2,647,229.00

\$3,250,937.15

UNIT PRICE	CONTRACT CNW243 EXTENSION
\$2,600.0000	\$23,400.00
\$1,200.0000	\$10,800.00
\$50.0000	\$25,150.00
\$50.0000	\$25,150.00
\$120.0000	\$60,000.00
\$125.0000	\$62,500.00
\$900.0000	\$62,100.00
\$1,075.0000	\$74,175.00
\$135.0000	\$1,425,465.00
\$165.0000	\$1,742,235.00
\$425,0000	\$3 825 0 0

ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		9.000 L.M.		
	Vulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$2,600.0000 \$1,200.0000	\$23,400.00 \$10,800.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		503.000 TON		
	Vulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$50.0000 \$50.0000	\$25,150.00 \$25,150.00
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRAD	DING B-M2		
		500.000 TON		
	Vulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$120.0000 \$125.0000	\$60,000.00 \$62,500.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		69.000 TON		
	Vulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$900.0000 \$1,075.0000	\$62,100.00 \$74,175.00
411-03.10	ACS MIX(PG76-22) GRADING D			
	Vulcan Construction Materials, LLC	10,559.000 TON	\$135.0000	¢4 425 465 00
	BWI MTN ii Inc. & dba Blue Water Industries		\$165.0000	\$1,425,465.00 \$1,742,235.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Vulcan Construction Materials, LLC	9.000 L.M.	\$42E 0000	¢2 025 00
	BWI MTN ii Inc. & dba Blue Water Industries		\$425.0000 \$1,100.0000	\$3,825.00 \$9,900.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	10,459.000 TON		
	Vulcan Construction Materials, LLC	10,439.000 TON	\$30.0000	\$313,770.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$35.7500	\$373,909.25
712-01	TRAFFIC CONTROL	4 000 1 0		
	Vulcan Construction Materials, LLC	1.000 LS	\$75,000.0000	\$75,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$150,000.0000	\$150,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	000 000 51011		
	Vulcan Construction Materials, LLC	200.000 EACH	\$39.0000	\$7,800.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$41.2500	\$8,250.00
712-06	SIGNS (CONSTRUCTION)			
	VI. 0	1,224.000 S.F.	* * * * * * * * * *	0.40.0== = = = = = = = = = = = = = = = = = =
	Vulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$10.5000 \$10.7500	\$12,852.00 \$13,158.00

			С	ONTRACT CNW243
			UNIT PRICE	EXTENSION
712-06.16	SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING)			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$825.0000	\$3,300.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$800.0000	\$3,200.00
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$1,100.0000	\$4,400.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,100.0000	\$4,400.00
712-08.08	SPEED FEEDBACK SIGN ASSEMBLY			
		2.000 EACH		
	Vulcan Construction Materials, LLC		\$2,500.0000	\$5,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$8,200.0000	\$16,400.00
712-08.09	DIGITAL SPEED LIMIT SIGN ASSEMBLY			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$4,900.0000	\$19,600.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$7,750.0000	\$31,000.00
712-08.12	QUEUE PROTECTION TRUCK			
		120.000 DAY		
	Vulcan Construction Materials, LLC		\$1,175.0000	\$141,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,510.0000	\$181,200.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$6,775.0000	\$27,100.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$7,900.0000	\$31,600.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)		
	` ` `	1,140.000 EACH		
	Vulcan Construction Materials, LLC	,	\$35.0000	\$39,900.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$48.0000	\$54,720.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	-	1,140.000 EACH		
	Vulcan Construction Materials, LLC	.,	\$12.0000	\$13,680.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$16.5000	\$18,810.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		475.000 L.F.		
	Vulcan Construction Materials, LLC	5.000 = 1	\$15.0000	\$7,125.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$21.0000	\$9,975.00
716-04.09	PLASTIC PAVEMENT MARKING (H.O.V. DIAMOND)			
		18.000 EACH		

Vulcan Construction Materials, LLC

BWI MTN ii Inc. & dba Blue Water Industries

\$8,100.00

\$11,124.00

\$450.0000

\$618.0000

	CONTRACT C	NW243
UNIT PRICE	EXTEN	ISION

			UNIT PRICE	EXTENSION
716-04.14 P	PLASTIC PAVEMENT MARKING (LANE REDUCTION A	ARROW)		
		3.000 EACH		
	/ulcan Construction Materials, LLC 3WI MTN ii Inc. & dba Blue Water Industries		\$700.0000 \$960.0000	\$2,100.00 \$2,880.00
716-05.20 P	PAINTED PAVEMENT MARKING (6" LINE)			
		15.300 L.M.		
	/ulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$1,600.0000 \$2,200.0000	\$24,480.00 \$33,660.00
716-08.20 R	REMOVAL OF PAVEMENT MARKING (LINE)			
		0.100 L.M.		
	/ulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$4,000.0000 \$5,500.0000	\$400.00 \$550.00
716-12.02 E	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN	•		
		11.600 L.M.		
	/ulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$7,200.0000 \$9,875.0000	\$83,520.00 \$114,550.00
716-12.05 E	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN	DOTTED LINE)		
	· ·	8,400.000 L.F.		
	/ulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries	,	\$3.0000 \$4.1500	\$25,200.00 \$34,860.00
716-12.06 E	ENHANCED FLAT LINE THERMO (8IN LINE)			
	,	1,300.000 L.F.		
V	/ulcan Construction Materials, LLC	1,0001000	\$2.0000	\$2,600.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$2.7500	\$3,575.00
716-12.09 E	ENHANCED FLAT LINE THERMO (12IN LINE)			
		20,064.000 L.F.		
	/ulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$5.0000 \$6.8500	\$100,320.00 \$137,438.40
717-01 M	MOBILIZATION			
		1.000 LS		
V	/ulcan Construction Materials, LLC	1.000 25	\$115,000.0000	\$115,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$75,000.0000	\$75,000.00
730-03.20 II	NSTALL PULL BOX (TYPE A)			
1.	Julean Construction Meterials 11.0	3.000 EACH	\$4,000,000	#2.000.00
	/ulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$1,000.0000 \$1,175.0000	\$3,000.00 \$3,525.00
730-12.02 C	CONDUIT 2" DIAMETER (PVC)			
		70.000 L.F.		
	/ulcan Construction Materials, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$22.0000 \$8.2500	\$1,540.00 \$577.50

				CONTRACT CNW243
			UNIT PRICE	EXTENSION
730-14.02	SAW SLOT			
		1,313.000 L.F.		
	Vulcan Construction Materials, LLC		\$4.0000	\$5,252.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$5.0000	\$6,565.00
730-14.03	LOOP WIRE			
		5,250.000 L.F.		
	Vulcan Construction Materials, LLC		\$1.0000	\$5,250.00

\$1.0000

\$5,250.00

BWI MTN ii Inc. & dba Blue Water Industries

Vulcan Construction Materials, LLC	\$2,647,229.00
BWI MTN ii Inc. & dba Blue Water Industries	\$3,250,937.15

Vulcan Construction Materials, LLC	\$2,647,229.00
BWI MTN ii Inc. & dba Blue Water Industries	\$3,250,937.15

SMITH AND WILSON COUNTIES (Contract No. CNW246 Call 008)

801040-S8-003,951040-S8-008,951040-S8-009

THE RESURFACING ON I-40 FROM EAST OF I-840 (L.M. 12.93) IN WILSON COUNTY TO EAST OF S.R. 53 (L.M. 8.60) IN SMITH COUNTY.

PROJECT LENGTH - 23.040 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2023

TOTAL CONTRACT

Vulcan Construction Materials, LLC

\$22,790,711.00

ROADW <i>A</i>	AY CATEGORY		UNIT PRICE	CONTRACT CNW246 EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Vulcan Construction Materials, LLC	89.600 L.M.	\$1,000.0000	\$89,600.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Vulcan Construction Materials, LLC	11,252.000 TON	\$40.0000	\$450,080.00
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING			
	Vulcan Construction Materials, LLC	1,500.000 TON	\$115.0000	\$172,500.00
307-03.11	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING	cw		
	Vulcan Construction Materials, LLC	60,998.000 TON	\$117.0000	\$7,136,766.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Vulcan Construction Materials, LLC	466.000 TON	\$1,000.0000	\$466,000.00
403-02.02	HOT APPLIED TACK COAT			
	Vulcan Construction Materials, LLC	459.000 TON	\$2,500.0000	\$1,147,500.00
411-03.10	ACS MIX(PG76-22) GRADING D			
	Vulcan Construction Materials, LLC	15,976.000 TON	\$132.0000	\$2,108,832.00
411-03.23	ACS MIX (PG76-22) OGFC			
	Vulcan Construction Materials, LLC	39,430.000 TON	\$150.0000	\$5,914,500.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Vulcan Construction Materials, LLC	87.500 L.M.	\$280.0000	\$24,500.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Vulcan Construction Materials, LLC	72,162.000 TON	\$37.0000	\$2,669,994.00
712-01	TRAFFIC CONTROL			
	Vulcan Construction Materials, LLC	1.000 LS	\$305,000.0000	\$305,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			

550.000 EACH

Vulcan Construction Materials, LLC

\$13,750.00

\$25.0000

			UNIT PRICE	CONTRACT CNW246 EXTENSION		
712-05.01	WARNING LIGHTS (TYPE A)					
	Vulcan Construction Materials, LLC	8.000 EACH	\$10.0000	\$80.00		
712-06	SIGNS (CONSTRUCTION)					
	Vulcan Construction Materials, LLC	6,360.000 S.F.	\$10.2500	\$65,190.00		
712-06.16	SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING)				
	Vulcan Construction Materials, LLC	10.000 EACH	\$800.0000	\$8,000.00		
712-08.03	ARROW BOARD (TYPE C)					
	Vulcan Construction Materials, LLC	15.000 EACH	\$1,100.0000	\$16,500.00		
712-08.08	SPEED FEEDBACK SIGN ASSEMBLY					
	Vulcan Construction Materials, LLC	6.000 EACH	\$1,500.0000	\$9,000.00		
712-08.09	DIGITAL SPEED LIMIT SIGN ASSEMBLY					
	Vulcan Construction Materials, LLC	36.000 EACH	\$3,000.0000	\$108,000.00		
712-08.12	QUEUE PROTECTION TRUCK					
	Vulcan Construction Materials, LLC	360.000 DAY	\$1,075.0000	\$387,000.00		
713-16.01	CHANGEABLE MESSAGE SIGN UNIT					
	Vulcan Construction Materials, LLC	12.000 EACH	\$4,500.0000	\$54,000.00		
716-01.23	1.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)					
	Vulcan Construction Materials, LLC	3,694.000 EACH	\$35.0000	\$129,290.00		
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKE					
	Vulcan Construction Materials, LLC	3,694.000 EACH	\$10.0000	\$36,940.00		
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)					
	Vulcan Construction Materials, LLC	152.000 L.F.	\$20.0000	\$3,040.00		
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)					
	Vulcan Construction Materials, LLC	11.000 EACH	\$200.0000	\$2,200.00		

		UNIT PRICE	EXTENSION
716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
,	3,655.000 L.F.		
Vulcan Construction Materials, LLC		\$15.0000	\$54,825.00
716-04.02 PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW	1.000 EACH		
Vulcan Construction Materials, LLC		\$400.0000	\$400.00
716-04.06 PLASTIC PAVEMENT MARKING (WRONG WAY ARROW)			
Vulcan Construction Materials, LLC	6.000 EACH	\$350.0000	\$2,100.00
716-04.07 PLASTIC PAVEMENT MARKING (EXIT ONLY ARROW)			
710-04.07 FLASTIC FAVEWENT WARRING (EXIT ONET ARROW)	3.000 EACH		
Vulcan Construction Materials, LLC		\$380.0000	\$1,140.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)			
Vulcan Construction Materials, LLC	64.000 S.F.	\$35.0000	\$2,240.00
		ψ33.0000	Ψ2,2π0.00
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW	/) 2.000 EACH		
Vulcan Construction Materials, LLC	2.000 2.001	\$700.0000	\$1,400.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
Vulcan Construction Materials, LLC	147.100 L.M.	\$1.600.0000	\$235,360.00
Vulcan Construction Materials, LLC		\$1,600.0000	\$230,360.00
716-08.20 REMOVAL OF PAVEMENT MARKING (LINE)	0.200 L.M.		
Vulcan Construction Materials, LLC	0.200 L.M.	\$10,000.0000	\$2,000.00
716-09.86 CONTRAST PAVEMENT MARKING 6"			
	4.300 L.M.		•
Vulcan Construction Materials, LLC		\$22,000.0000	\$94,600.00
716-09.90 CONTRAST PAVEMENT MARKING 6" DOTTED			
Vulcan Construction Materials, LLC	1,900.000 L.F.	\$5.0000	\$9,500.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
Vulcan Construction Materials, LLC	107.200 L.M.	\$7,200.0000	\$771,840.00
		, ,======	.,

1,700.000 L.F.

716-12.03 ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER LINE)

Vulcan Construction Materials, LLC

\$5,100.00

\$3.0000

				CONTRACT CNW246	
			UNIT PRICE	EXTENSION	
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN D	OTTED LINE)			
	Vulcan Construction Materials, LLC	15,560.000 L.F.	\$3.0000	\$46,680.00	
716-12.06	ENHANCED FLAT LINE THERMO (8IN LINE)				
	Vulcan Construction Materials, LLC	7,268.000 L.F.	\$3.0000	\$21,804.00	
716-12.09	ENHANCED FLAT LINE THERMO (12IN LINE)				
	Vulcan Construction Materials, LLC	500.000 L.F.	\$7.0000	\$3,500.00	
716-12.10	ENHANCED FLAT LINE THERMO (12IN DOTTED)				
	Vulcan Construction Materials, LLC	2,000.000 L.F.	\$7.0000	\$14,000.00	
717-01	MOBILIZATION				
	Vulcan Construction Materials, LLC	1.000 LS	\$200,000.0000	\$200,000.00	
730-03.20	INSTALL PULL BOX (TYPE A)				
	Vulcan Construction Materials, LLC	2.000 EACH	\$1,000.0000	\$2,000.00	
730-12.02	CONDUIT 2" DIAMETER (PVC)				
	Vulcan Construction Materials, LLC	20.000 L.F.	\$22.0000	\$440.00	
730-14.02	SAW SLOT				
	Vulcan Construction Materials, LLC	500.000 L.F.	\$4.0000	\$2,000.00	
730-14.03	LOOP WIRE				
	Vulcan Construction Materials, LLC	1,520.000 L.F.	\$1.0000	\$1,520.00	

Vulcan Construction Materials, LLC

\$22,790,711.00

TOTAL CONTRACT

Vulcan Construction Materials, LLC

\$22,790,711.00